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Ejercicio 1

Ejercicio 2

Ejercicio 3

Ejercicio 4 a) 12

b) 8

c) Cn

2

Ejercicio 5

Ejercicio 6 G1 Śı; G2 No; G3 No

Ejercicio 7

Ejercicio 8

Ejercicio 9 r = 10

Ejercicio 10

Ejercicio 11 a) 12

Ejercicio 12

Ejercicio 13

Ejercicio 14 a) 2

b) 2 si n es par y 3 si n es impar

c) 1) 3

2) 2

3) 2

4) 2

5) 2

Ejercicio 15

Ejercicio 16 3

Ejercicio 17 a) P (K1,3, λ) = λ(λ− 1)3

b) P (K1,n, λ) = λ(λ− 1)n ; χ(K1,n) = 2

1



c) P (Pn, λ) = λ(λ− 1)n−1

d) P (G, λ) = λ(λ − 1)n−1

e) 2

Ejercicio 18 P (K2,n, λ) = λ(λ − 1)n + λ(λ − 1)(λ− 2)n

Ejercicio 19 1) a) P (G1, λ) = λ(λ − 1)2(λ − 2)(λ − 3)((λ − 1)2 − (λ − 2)); b)
χ(G1) = 4; c)6240

2) a) P (G2, λ) = λ(λ − 1)(λ− 2)(λ− 3)2; b) χ(G1) = 4; c) 240

3) a)P (G3, λ) = λ(λ − 1)9)((λ − 1)2 − (λ − 2)); b) χ(G1) = 2;
c)17039360

2


